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import numpy as np
import matplotlib.pyplot as plt

#
def f(x, v)
m = # [kgl
€ = # [NOCs/m)]
| 8 | k = # 00 [N/m]
y=-(c/m) *v - (k/m) * x #
return y
#
t0 = #
tl = #
dt = #
#
X0 = # [m]
VO = # [m/s]
X, V= X0, vO #
t_axis = np.arange(t0, t1, dt) #
x_sol = [] # x(
v_sol = [] # 000v(00)
# 411 Runge-Kutta
for t in t_axis:
v_sol.append(v)
x_sol.append(x)
k1l = f(x, v) * dt
k12 = v * dt
k21 = f(x + dt / 2, v + k11 / 2) * dt
k22 = (v + k11 /7 2) * dt
k31 = f(x + dt / 2, v + k21 / 2) * dt
k32 = (v + dt / 2) * dt
k4l = f(x + dt, v + k31) * dt
k42 = (v + k31) * dt
v 4= (K11 + 2 * k21 + 2 * k31 + k41) /
X += (k12 + 2 * k22 + 2 * k32 + k42) /
iz
m =
C =
k =
cc = 2 * np.sqrt(m * k)
zeta = ¢ / cc

omega = np.sqrt(k / m)

omega_d = omega * np.sqrt(l - np.power(zeta, 2))
sigma = omega_d * zeta

X = np.sqrt(np.power(x@, 2) + np.power((v@ + sigma * x@) / omega_d, 2))
phi = np.arctan((v@ + (sigma * x@)) / (x@ * omega_d))

theory = np.exp(- sigma * t_axis) * X * np.cos(omega_d * t_axis - phi)
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#

plt.rcParams['font.size'] =
plt.rcParams['font.family'] = 'Times New Roman'
#

K82} p1t.rcParams['xtick.direction'] !

- plt.rcParams['ytick.direction'] = 'in

62

#

fig = plt.figureQ)
ax1l = fig.add_subplot( D)

K8 ox1.yaxis.set_ticks_position('both")
axl.xaxis.set_ticks_position('both")

I
-
>

#
axl.set_xlabel('Time [s]')
ax1l.set_ylabel('Displacement [m]"')
72

#

ax1l.plot(t_axis, x_sol, label='RK4', c="b', marker='o"', linestyle="'None')
ax1l.plot(t_axis, theory, label='Theory', c="r")

| 76 |
fig.tight_layout()

plt.legend(loc="upper right')
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plt.show()
1t.close()
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from scipy import fftpack
import numpy as np

import matplotlib.pyplot as plt
| 4 |

#
ﬂdef f(x, v):
#

ml
m2
k1
k2

M = np.array([[ml, 0],

(2, m211)
K = np.array([[kl + k2, -k2],

[-k2, k211D
M_inv = np.linalg.inv(M)

#
y = - np.dot((np.dot(K, M_inv)), x)
return y

np.array([[-1.0], [0.0]1) [m]
np.array([[0.0], [0.0]1) [m/s]
= x0, vO 7

t_axis = np.arange(t@, tl, dt)
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v_sol = [] # v
36 |

# 411 Runge-Kutta
iteration =

for t in t_axis:

x_sol.append(x[1, @]) # 2
v_sol.append(v[1, 0]) # 2
print('iteration=", iteration, 'time=", t)

k1l = f(x, v) * dt
k12 = v * dt

k21 = f(x +dt / 2, v + k11 / 2) * dt
k22 = (v + k11 / 2) * dt

k31 = f(x +dt /7 2, v + k21 / 2) * dt
k32 = (v + k21 / 2) * dt

k4l = f(x + dt, v + k31) * dt
k42 = (v + k31) * dt

v += (k11 + 2 * k21 + 2 * k31 + k41) /
x += (k12 + 2 * k22 + 2 * k32 + k42) /

iteration +=
Ea

#

spec = fftpack.fft(x_sol) #

**

abs_spec = np.abs(spec / (len(spec)/2))
frequency = np.linspace(?, 1/dt, len(x_sol)) #

160 |3
#
plt.rcParams['font.size'] =
plt.rcParams['font.family'] = 'Times New Roman'
|64
#
Il p1t.rcParams['xtick.direction'] = 'in'
plt.rcParams['ytick.direction'] = 'in'

iz
fig = plt.figureQ)
axl = fig.add_subplot(211)
axl.yaxis.set_ticks_position('both")
axl.xaxis.set_ticks_position('both")
ax2 = fig.add_subplot(212)
axl.yaxis.set_ticks_position('both")
axl.xaxis.set_ticks_position('both")
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axl.set_xlabel('Time [s]')
axl.set_ylabel('Displacement [m]')

ax2.set_xlabel('Frequency [Hz]")
ax2.set_ylabel('Displacement [m]")

ax2.set_x1im(@, 10)
ax2.set_yscale('log")

#
axl.plot(t_axis, x_sol, label="RK4')
ax2.plot(frequency, abs_spec)

fig.tight_layout()

.show()
close()
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import numpy as np
from matplotlib import pyplot as plt

np.array([[ml, 0],
[0, m2]1)
= np.array([[kl + k2, -k2],

[-k2, k211D

M_inv = np.linalg.inv(M)

118 |
#
omega, v = np.linalg.eig(np.dot(M_inv, K))

122 |

omega_sort = np.sort(omega)
| 24 |
#

1 26 |

sort_index = np.argsort(omega)

128

#
v_sort = []

for i in range(len(sort_index)):
v_sort.append(v.T[sort_index[i]])
v_sort = np.array(v_sort)
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#

def f(x, v):
#
ml
m2
cl
c2
k1
k2

M = np.array([[ml, 0],

[0, m211)
C = np.array([[cl + c2, -c2],

[-c2, c2]1D
K = np.array([[kl + k2, -k2],

[-k2, k211
M_inv = np.linalg.inv(M)

#
y = - np.dot((np.dot(C, M_inv)), - np.dot((np.dot(K, M_inv)),
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#

def f(x, v):
#
ml
m2
cl
c2
k1
k2

M = np.array([[ml, 0],

[0, m2]11)

C = np.array([[cl + c2, -c2],
[-c2, c211D)

K = np.array([[kl + k2, -k2],

[-k2, k211D
M_inv = np.linalg.inv(M)

#
F

= np.array([[0.0], [ * np.cos(Z * np.pi * * 1D

#
y = np.dot(M_inv, F) - np.dot((np.dot(C, M_inv)), v) - np.dot((np.dot(K, M_inv)), x)
return
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